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QUESTION 1

Which three statements are true about Enterprise Manager Database Express? (Choose three.) 

A. It can be used to perform database backup operations. 

B. It can use the HTTP protocol. 

C. The same port number is used for multiple Database Express configurations on the same host. 

D. It can use the HTTPS protocol. 

E. It is available only when the database is open. 

Correct Answer: BDE 

 

QUESTION 2

Examine the following impdp command to import a database over the network from a pre-12c Oracle database (source):
Which three are prerequisites for successful execution of the command? (Choose three.) 

A. The import operation must be performed on the target database by a user with the
DATAPUMP_IMP_FULL_DATABASE role, and the database link must connect to a user with the
DATAPUMP_EXP_FULL_DATABASE role on the source database. 

B. All user-defined tablespaces must be in read-only mode on the source database. 

C. The export dump file must be created before starting the import on the target database. 

D. The source and target database must be running on the same operating system (OS) with the same endianness. 

E. The impdp operation must be performed by the same user that performed the expdp operation. 

Correct Answer: ABD 

In this case we have run the impdp without performing any conversion if endian format is different then we have to first
perform conversion. 

 

QUESTION 3

Which two statements are true about SQL *Loader Express Mode in an Oracle 12c database? (Choose two.) 
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A. The DEGREE_OF_PARALLELISM parameter is set to AUTO. 

B. You cannot have multiple SQL *Loader data files. 

C. If no data file is specified, it assumes the data file to be .dat in the current directory and uses it. 

D. You can have multiple bad files created when loading in parallel. 

E. You can selectively load rows into a table based on a filter. 

Correct Answer: AC 

References:
https://docs.oracle.com/database/121/SUTIL/GUID-0F35B551-861B-450D-8BF32312893A67D7.htm#SUTIL3951 

 

QUESTION 4

Examine the following command; 

ALTER SYSTEM SET enable_ddl_logging = TRUE; 

Which statement is true? 

A. Only the data definition language (DDL) commands that resulted in errors are logged in the alert log file. 

B. All DDL commands are logged in the alert log file. 

C. All DDL commands are logged in a different log file that contains DDL statements and their execution dates. 

D. Only DDL commands that resulted in the creation of new segments are logged. 

E. All DDL commands are logged in XML format in the alert directory under the Automatic Diagnostic Repository (ADR)
home. 

Correct Answer: E 

 

QUESTION 5

You install a non-RAC Oracle Database. During Installation, the Oracle Universal Installer (OUI) prompts you to enter
the path of the Inventory directory and also to specify an operating system group name. 

Which statement is true? 

A. The ORACLE_BASE base parameter is not set. 

B. The installation is being performed by the root user. 

C. The operating system group that is specified should have the root user as its member. 

D. The operating system group that is specified must have permission to write to the inventory directory. 

Correct Answer: D 
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Note: 

Providing a UNIX Group Name 

If you are installing a product on a UNIX system, the Installer will also prompt you to provide the name of 

the group which should own the base directory. 

You must choose a UNIX group name which will have permissions to update, install, and deinstall Oracle 

software. Members of this group must have write permissions to the base directory chosen. 

Only users who belong to this group are able to install or deinstall software on this machine. 
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